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2����� �&����/����� 2���&� ����1�]� �?�?-����� 2�������+�/����� ��������
2���&����2�0 �����2 � +��2���2� �&. �+�����. 9������� �&���� .�&���� � ��0 
������ ��6��?���� � +��2������ +���+�������0 � ��0��&���/����0 +��&�1���.0
2������&�� �&�1��� ��������� � ���?�/��2� ��������2� +������� � ���?0���8
2���� ��6��?���� �?�?-����0 2���&��# ���/�.]-�0 �&����/����� 2���&� �&.
����������� �+�����. � �/��� �����0 ����������0 \77����� 

���( �.� +��0���� � ���/����] 2���&�� � ����(� ���&�6����. 7�6�/�����
+��0��# ?�6���]-���. �� ���&�6�# �$���� � ��&(���9�2 ���&������ �&� �?�?-�8
��� ?�6���0 ��+���6 �&����/����0 ������ ���&�6 � �&����7���$�. �?�?-����
�&����/����0 ������ � ����� ��/�� 6����. ���� � m<n# �?6�� 2���&�� +�������&��#
��+��2��# � mD# Fn 
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����2 �6 +��0����# ��+�&(6��2�0 �&. +��������. �?�?-����0 2���&��# .�8
&.���. �/�� ?�&(9���# /�2 � �&����/����0 2���&.0# ��&�/����� ���+���� ���?���
����������0 \&�2����� � 2���&.0 ������� � 2����+�&.���0 2���&.0 � ��+�&��8
��� � +��������������2 +���2�-���.2 ����.��. +�&. ���-���� ���-���&(���
���+��� ���?��� \&�2����� ����������� +�.�&.]��. � ?�&�/��0 ��9����0# 2�����8
�&�0 � �/���2 ����/���� ��62��� /����$ 
����� +��0�� � +��������] ?�&�� ����8
�����0 2���&�� ������� � �/��� ��&���&(�����# �6��2��������� ��&(���� +��.��� 
	/�� � 2���&.0 ���������� +�&�� ?�&�� ��������# /�2 � �&����/����0 2���&.0#
+��.��� +������� � ����������������2 2���&.2 ��2�/����� ��� ��+� 2���&��
�&. ��& +������/����� ��������� ����.��. �� ������ \&�2�������� ./���� +���8
���/����� ���������� 2���&�� �� ������ 2����./����# ��&]/�]-�� �����&(��
\&�2�������0 ./���# � ��+�&(6������2 ���&�/������ �������������� ��&�/�����
+�&�� +������� � 2����+�&���2 2���&.2 ���?0���2� ��2����(# /�� ��2�/�����
��+���6� � +��0��� ��6�����2� � 2���� ?��( ��+�&(6����� ��� ��6��&(��# ��� �
� ��2?���$�.0 ��6��?���� ������ � ���&�������� ��62�1������ ����0 ��2+&���8
��0 2���&�� +�������&.�� ������� � �����.# � /��������# � ����(� m=n# ���?-����
������� mEn �� ��II )�1���������2 ��������� +� �������/����� � +���&�����
2�0����� !���&����# D>>C" 

� �����.-�� ����(� �������. ����������������� �?�?-���� 2����+�&���� 2��8
��+�&.���� 2���&� �������/����� ��9����# +���������� � ���&��������� � ����(�
mCn# �����. ��������� ���������� � ��6&�/��0 �?�?-����0 ��������&(��0 2���8
&�� 
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��02����. ����������. 2���&( ������&&� � �������/����2� ��������2�# ��
���( ������&&�# �?&���]-��� ���?�/��2 ��������2 +�� ����.1���� ���9��.�(�.
� ��+���&���� +�+���/��2 ����.1���]# ?�&� +���&�1��� � ����(� mBn � 2���&�
+���+�&������.# /�� ��7��2�$�.2� ���++ ���2�� ������&&� 2�1�� +����?��/(
� ����2�������( �0 ��� ����7��2����2�� ���������� 1������ /����$�# ����8
��� �6��2��������]� ���# ��� +���6��� �� ��� < ���&���/��. 2���&( �&. 7��8
2�������. 2������&�� � �������/����2� ��������2� ?�&� +���&�1��� � m@n# ���
����2���������. +��0�� �&. ��������������. �������������� 2������&� � ����8
$���&(��2 ��\77�$�����2 �������� �� ������ \&�2����� ���������� 7��2� 

� ����(� m[n +�������� ���������. � 2����+�&.���. 2���2���/����� 2���8
&� ����� �����2� ���2����. �����2� 6������. ���2. +���2����2� h � A =
(
√

2/2)a sinα# ��� a � α 8 ��62�� � ���& �������$�� /����$ �������������� !��� <" 
��\77�$�����# 0��������6�]-�� 1�������� ��.6�� ���2�� � �6&�0 /����$# $��8
���&(��� �6��2��������. �������0 /����$# ��+�����&���� +�������2 �� �������
���9��� ����� �?�6��/��� C1# C2# c �������������� 
�7��2��������� �����.���
0��������6����. �2�-���.2� um,n# vm,n � ��&�2� +�������� ϕm,n /����$ p����8
$� �2�]� 2���� M # 2�2��� ����$�� I 

p��?� +�&�/��( ��������. ���1���. �&. p8� /����$�# �������. 7���$�.
'�����1�

Lp =
1
2
Mu̇2

p +
1
2
Mv̇2

p +
1
2
Iϕ̇2

p −
∑

E(p,i)(q,j) − 1
2
cϕ2

p, !<"
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�+ #	�����

��� up# vp .�&.]��. ��2+������2� �2�-���� �.1���� $����� p8� /����$�# � ϕp
8 ��&�2 +������� \��� /����$� ������ ��� ������&.]-�� � !<" �+����&.]� ��8
����/����] \�����] p8� /����$�# /�������. �+������� +����$��&(��] \�����]
���(2� �+����0 ��.6��# ������.]-�0 i8� �6�& p8� /����$� � j82 �6&�2 q8� /����8
$�# +.��. ������&.]-�. 8 \�����. ��+�����&���. ���-���.2 �� ������� ���9���
����� 

�����$��&(��. \�����. �+����� ��.6�# ������.]-�� i8� �6�& p8� /����$� �
j82 �6&�2 q8� /����$�# �������. �� ������ +����$��&(��� \������ ��.6� +��1��8
���� ��+� E(p,i)(q,j) = (C/2) (L1 − L0)

2
# ��� C .�&.���. +���������� 1�������(]

��.6�# C = c/L2
0# � L0 � L1 8 �&��� ��.6� �� � +��&� ��7��2�$��# �������������� 

'������6�$��� �62�����. �&��� ��.6� ΔL = L1 − L0 ��������&(�� �2�-���� �
���-����# +���+�&���.# /�� ��� 2�&�# +�������&.�2 +����$��&(��] \�����] �
����

E(p,i)(q,j) = 1
2C [(uq − up) cos γ + (vq − vp) sin γ+

+riϕp sin (γi − γ) − rjϕq sin (γj − γ) ]2 ,

��� �&. ���������� � ��&�0 � $������ /����$ ri = rj = a
/√

2 � ri = rj = 0q γi 8
��&�/��� ��&� 2�1�� ��(] Ox � ������8�������2# ������.]-�2 $���� 2���� p8�
/����$� � �� i82 �6&�2q ���&���/�� γj 8��&�/��� ��&� 2�1�� ��(] Ox � ������8
�������2# ������.]-�2 $���� 2���� q8� /����$� � �� j82 �6&�2q γ 8 ���& 2�1��
��(] Ox � ��+���&����2 �� �6&� i � �6&� j 

2� �$%���Y4��1#090�5 ?0�Y�3� #��5 ?1�4�3� 540�5 ?��# C

��� +����&�# �&. +�&�/���. ��������&(��0 2���&�� ��+�&(6����. 2���2�&(8
��. ./���� +������/����� � ���� �����������]-�� ��������� +�&� �?�?-����0
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+���2�-���� ����6 �� \���� �� ��2��/�������� +���+�&�1���. ����� � ����2�
�&���� 2���&�� u 2����+�&���2 2���&.2 N 8+�&���� 2���&� ����.��. �� ����8
�� 2����./����# ��&]/�]-�� N +�����0 ./���# � ��+�&(6������2 N ��������0
+�&�� �&. �+�����. ��7��2�$�� �����2� 


&. +��������. ���0+�&���� 2���&� ��+�&(6��2 2����./����# �����1�-�]
��� /����$� � ����������2� (m, n) � (m+ 1, n) !��� <" 
&. /����$ 2����./����
�����2 ��+�&����&(�� 2��������� �������2 s# ������� ����� ># ��&� ��22� m+n
/����.# � <# ��&� ��22� ��/����. 


�&��# ��+�&(6�. '�����1��� !<"# +�&�/��2 9���( ��������� ���1���. �&.
/����$ � +������/����� ./���� 


&. /����$ � �������2 s = 0 ��������. �2�]� ���

Müm,n0 = C1 (Δxxu
m,n
1 + 2um,n1 − 2um,n0 )+

+ 1
2C2 (Δum,n0 + Δxyv

m,n
0 ) −AC1Δxϕ

m,n
1 ,

Mv̈m,n0 = C1 (Δyyv
m,n
1 + 2vm,n1 − 2vm,n0 )+

+ 1
2C2 (Δxyu

m,n
0 + Δvm,n0 ) −AC1Δyϕ

m,n
1 ,

Iϕ̈m,n0 = A2C1 (Δxxϕ
m,n
1 + Δyyϕ

m,n
1 + 4ϕm,n1 − 4ϕm,n0 )−

−AC1 (Δxu
m,n
1 + Δyv

m,n
1 ) − cϕm,n0 ,

!D"

��� ��+�&(6����� �&���]-�� �?�6��/���. �&. ����/��0 ��6������

Δxu
m,n
s = um+1,n

s − um−1,n
s , Δxxu

m,n
s = um+1,n

s − 2um,ns + um−1,n
s ,

Δyu
m,n
s = um,n+1

s − um,n−1
s , Δyyu

m,n
s = um,n+1

s − 2um,ns + um,n−1
s ,

Δxyu
m,n
s = um+1,n+1

s − um−1,n+1
s − um+1,n−1

s + um−1,n−1
s ,

Δum,ns = um+1,n+1
s + um−1,n+1

s + um+1,n−1
s + um−1,n−1

s − 4um,ns .

��� ������ ��������. �&. /����$ � �������2 s = 1 2���� ?��( +�&�/��� �6
��������� !D" 6�2���� 0 → 1# 1 → 0# m→ m+ 1 � A→ −A 


&. +��������. ���0+�&���� 2���&� �����2 ��� ������87���$�� { us (x, y, t)#
vs (x, y, t)#ϕs (x, y, t) }# s = 0, 1# /��?� �+����( �2�-���. /����$# ��2�/����0 ��8
�����2� > � < �������������� 

����+�&����2# /�� � ��/��0 ���+�&�1���. /����$ ��������� 7���$�� �?�?8
-����0 +���2�-����# s = 0, 1, +����2�]� 6��/���. +���2�-���� �����������]8
-�0 /����$ ��9����# �� ���(

{um,ns (t) , vm,ns (t) , ϕm,ns (t)} = {us (x, y, t) , vs (x, y, t) , ϕs (x, y, t)}|x=mh,y=nh .

j�2��.. � ���������2 ��������� 6��/���. +���2�-���� � ���-���� �0 +�&�8
��2� ���&���2� � ��+�&(6�. ��&�� ��6&�1���� � �.� ���&���

wm±1,n±1
s (t) → ws (x± h, y ± h, t) =

∑
i

∑
j

(±h)i

i!
(±h)j

j!
∂i+jws (x, y, t)

∂xi∂yj
,

+��0���2 � ��������.2 ��������&(��� 2���&� � �&�/��# ��&� �/�����]��. +��8
�6������ �� ��9� ������� +��.���# +�&�/��2 �&������&����] ���0+�&���] 2�8
��&(# � ��0���.. +���6������ �� /��������� +��.��� ��&]/���&(�� u ���������8
�������] 2���&( 
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������ ��� ��������. 2���&� �2�]� ���

Mu0,tt = C1

(
h2u1,xx + 2u1 − 2u0 − 2Ahϕ1,x

)
+

+C2h
2 (u0,xx + u0,yy + 2v0,xy) + C1h

4
(

1
12u1,xxxx − 1

3
A
hϕ1,xxx

)
+

+C2h
4
(

1
12u0,xxxx + 1

2u0,xxyy + 1
12u0,yyyy + 1

3v0,xxxy + 1
3v0,yxxx

)
,

Mv0,tt = C1

(
h2v1,yy + 2v1 − 2v0 − 2Ahϕ1,y

)
+

+C2h
2 (2u0,xy + v0,xx + v0,yy) + C1h

4
(

1
12v1,yyyy −

1
3
A
hϕ1,yyy

)
+

+C2h
4
(

1
12v0,xxxx + 1

2v0,xxyy + 1
12v0,yyyy + 1

3u0,xxxy + 1
3u0,yxxx

)
,

Iϕ0,tt = A2C1

[
h2 (ϕ1,xx + ϕ1,yy) + 4ϕ1 − 4ϕ0

]
− 2AC1h (u1,x + v1,y)−

−cϕ0 + C1Ah
3
(

1
12Ah [ϕ1,xxxx + ϕ1,yyyy] − 1

3 [u0,xxx + v0,yyy]
)
.

!@"

��� ������ ��������. 2���&� +�&�/�]��. �6 ��������� !@" 6�2���� 0 → 1#
1 → 0# A→ −A 

��������2 ���0# s = 0, 1, ����0 ��������0 +�&��

Us =
1
2

[u1 + (−1)s u0] , Vs =
1
2

[v1 + (−1)s v0] , Φs =
1
2

[ϕ1 − (−1)s ϕ0]

9���( ��.6����0 ��������� ���-�+&.]��. �� ��� ��6�����2�� ���++� ��������� 

	�������. �&. 7���$�� U0 (x, y, t)# V0 (x, y, t)# Φ0 (x, y, t) �2�]� ���

MU0,tt = C1

(
h2U0,xx − 2AhΦ0,x

)
+

+C2h
2 (U0,xx + U0,yy + 2V0,xy) + C1h

4
(

1
12U0,xxxx − 1

3
A
hΦ0,xxx

)
+

+C2h
4
(

1
12U0,xxxx + 1

2U0,xxyy + 1
12U0,yyyy + 1

3V0,xxxy + 1
3V0,xyyy

)
,

MV0,tt = C1

(
h2V0,yy − 2AhΦ0,y

)
+

+C2h
2 (2U0,xy + ΔV0) + C1h

4
(

1
12V0,yyyy − 1

3
A
hΦ0,yyy

)
+

+C2h
4
(

1
12V0,xxxx + 1

2V0,xxyy + 1
12V0,yyyy + 1

3U0,xxxy + 1
3U0,xyyy

)
,

IΦ0,tt = −A2C1

(
h2 [Φ0,xx + Φ0,yy] + 8Φ0

)
+ 2AC1h (U0,x + V0,y)−

−cΦ0 − C1Ah
3
(

1
12Ah [Φ0,xxxx + Φ0,yyyy] + 1

3 [U0,xxx + V0,yyy]
)
.

!B"

� /�����2 �&�/�� ��0������. +���6�����0 �� ��9� ������� +��.��� � \��0
��������.0# +��0���2 � ��������.2 �&����/����� 2����+�&.���� 2���&�# +�&�8
/����� �&. ����2�������2�� �����2� � ����(� m[n � �+�����]-�� �&������&��8
��� ��7��2�$�� ��9���� ����������� ��������. !B" .�&.]��. �?�?-�]-�2�
�0 ��������.2� ����+�&���� ����������������� 2����+�&.���� 2���&� 

��� ������ ��������. 2���&� �&. 7���$�� U1 (x, y, t)# V1 (x, y, t)# Φ1 (x, y, t)
�2�]� ���
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MU1,tt = C1

(
−h2U1,xx − 4U1 + 2AhΦ1,x

)
+

+C2h
2 (U1,xx + U1,yy + 2V1,xy) − C1h

4
(

1
12U1,xxxx − 1

3
A
hΦ1,xxx

)
+

+C2h
4
(

1
12U1,xxxx + 1

2U1,xxyy + 1
12U1,yyyy + 1

3V1,xxxy + 1
3V1,xyyy

)
,

MV1,tt = C1

(
−h2V1,yy − 4V1 + 2AhΦ1,y

)
+

+C2h
2 (2U1,xy + V1,xx + V1,yy) − C1h

4
(

1
12V1,yyyy − 1

3
A
hΦ1,yyy

)
+

+C2h
4
(

1
12V1,xxxx + 1

2V1,xxyy + 1
12V1,yyyy + 1

3U1,xxxy + 1
3U1,xyyy

)
,

IΦ1,tt = A2C1h
2 (Φ1,xx + Φ1,yy) − 2AC1h (U1,x + V1,y) − cΦ1+

+C1Ah
3
(

1
12Ah [Φ1,xxxx + Φ1,yyyy] − 1

3 [U1,xxx + V1,yyy]
)
.
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�2��& \��0 ����0 ��������� �����������. ��+�&����&(��2 ���&�6�2 

6� �4��019# C0$< �0� 1X ?��# #<

��������&(��� ���&�6 2���&�� +������2 �� ������ ��������. ���+��������0
������9���� �&. ��&����0 ��9���� ����

um,ns (t) = ũs exp [R (ωt−mKx − nKy)] ,
vm,ns (t) = ṽs exp [R (ωt−mKx − nKy)] ,
ϕm,ns (t) = ϕ̃s exp [R (ωt−mKx − nKy)] ,
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��� Kx = hkx# Ky = hky# kx# ky 8 ��&����� /��&�# ω 8 ��&���. /������# ũs# ṽs# ϕ̃s 8
�2+&����� ��&�?���� 

����������� ����1���� !F" � ���������� ��������. ���1���. +������� �
�����2� 9���� &������0 �&��?���/����0 ��������� �&. �2+&���� � ����0 +���8
2����0

Ũs =
1
2

[ũ1 + (−1)s ũ0] , Ṽs =
1
2

[ṽ1 + (−1)sṽ0] , Φ̃0 =
1
2

[ϕ̃1 − (−1)sϕ̃0]

�����2� �6 9���� ��.6����0 ��������� ���+������. �� ��� ��6�����2�� �����2�
��������� ����(

as,0 + as,2 +mω2
s

)
Ũs + as,3Ṽs + as,4 RΦ̃s = 0 #

as,3Ũs +
(
as,1 + as,2 +mω2

s

)
Ṽs + as,5 RΦ̃s = 0 #

as,4Ũs + as,5Ṽs +
(
as,6 + Iω2

s

)
RΦ̃s = 0 #

!="

��� s = 0, 1 

&. s = 0 ��\77�$����� �����2� !=" �2�]� ���

a0,0 = 2C1 (cosKx − 1) , a0,1 = 2C1 (cosKy − 1) ,
a0,2 = 2C2 (cosKx cosKy − 1) , a0,3 = −2C2 sinKx sinKy,
a0,4 = 2AC1 sinKx, a0,5 = 2AC1 sinKy,
a0,6 = 2A2C1 (− cosKx − cosKy − 2) − c.

!C"


&. s = 1 ��\77�$����� �����

a1,0 = 2C1 (− cosKx − 1) , a1,1 = 2C1 (− cosKy − 1) ,
a1,2 = 2C2 (cosKx cosKy − 1) ,
a1,3 = −2C2 sinKx sinKy, a1,4 = −2AC1 sinKx,
a1,5 = −2AC1 sinKy, a1,6 = 2A2C1 (cosKx + cosKy − 2) − c.

!["



�������������
��� 	����������� 	������������ 	�������� B@

������������� ��&] �+����&���&. �&. ��0�1����. ��������&(��0 ��9����
�����2� !=" � s = 0 � s = 1 ���� 9���( ���+��������0 ������9����# �������
6���]� 9���( ���+��������0 +����0������# �+����&����0 � +���������� +�����
6��� ,��&&]\��# ||Kx| + |Ky|| < π 

�����&(�� ��\77�$����� a0,m# !C"# ���+���]� � ��\77�$�����2� 2���&�# +�8
&�/����2� � m[n �&. �&�/�. ����� /����$� � ./���� +������/�����# ��� +�����
���+��������� +����0����� +���������� �� ������ 2����./���� ���������� 2�8
��&� !D" ���+���]� � +����0����.2� ���������� 2���&�# +���������� �&. ./����
+������/����� � ����� /����$�� � ����(� m[n j�2��� Kx → π−Kx � Ky → π−Ky

� ��\77�$�����0 �&. ������ ���++� +����0������ a1,m# !["# +�����.� � ��2�
1� ��2�2� �����2������ �&. ���+��������0 ������9����# /�� � ��\77�$�����
a0,m# !C" H�� �6��/���# /�� ��� ������ +����0����� ���������� 2���&�# +�������8
��� �� ������ 2����./����# �����������]-�� ��\77�$�����2 a1,m � �+����&��8
��� �� �?&���� ||Kx| + |Ky|| < π# ?���/� ����1����2� ��������&(�� +&��������
Kx ± Ky = ±π ��]� ���+��������� +����0����� ���������� 2���&�# +�&�/��8
��� � m[n � ��+�&(6������2 ./���� � ����� /����$��# � �?&���.0 ||Kx| + |Ky|| > π#
|Kx| < π# |Ky| < π 

����2 �?��6�2# �������� 2����./���� �&. ���������� �����2� +������� �
?�&�� �&�1��� 2���&� � ���&�/����2 ��&�/�����2 ���������# �� � ��� 1� ��8
7��2�$��� � �����2�# /�� � 2���&(# +���������. �� ������ \&�2�������� ./���� 

�&�� ?���� +���6���# /�� �������� 2����./���� � ���&�/���� ��&�/����� �++���8
��2���]-�0 +�&�� +�� +��������� ��������&(��� 2���&� +������� � ��-������8
�� ����2� ��6�&(���� u ���/����] ��������&(��� 2���&�# +���������� �� ������
./���� � ����� /����$�� 


&. +��������. ���+��������0 ������9���� ��������&(��0 2���&�� ����2��8
�����2 ��������&(��� ���&��� ��9���� !F" ����

Us (x, y, t) = Ũs LYT [R (ωt− kxx− kyy)] ,
Vs (x, y, t) = Ṽs LYT [R (ωt− kxx− kyy)] ,
Φs (x, y, t) = Φ̃sLYT [R (ωt− kxx− kyy)] .


0 +���������� � ��������. ����������������� ���0+�&���� 2����+�&.����
2���&� !B" � !E" +������� � �����2� &������0 �&��?���/����0 ��������� ���� !="
� ��\77�$�����2�

c0,0 = C1

(
−K2

x +K4
x/12

)
, c0,1 = C1

(
−K2

y +K4
y/12

)
,

c0,2 = C2

(
−K2

x −K2
y +K4

x/12 +K2
xK

2
y/2 +K4

y/12
)

#
c0,3 = −2C2

(
KxKy −K3

xKy/6 −KxK
3
y/6

)
,

c0,4 = 2AC1

(
Kx −K3

x/6
)
, c0,5 = 2AC1

(
Ky −K3

y/6
)
,

c0,6 = A2C1

(
K2
x +K2

y − 8 −K4
x/12 −K4

y/12
)
− c

!<>"

�

c1,0 = C1

(
−4 +K2

x −K4
x/12

)
# c1,1 = C1

(
−4 +K2

y −K4
y/12

)
#

c1,2 = C2

(
−K2

x −K2
y +K4

x/12 +K2
xK

2
y/2 +K4

y/12
)

#
c1,3 = −2C2

(
KxKy −K3

xKy/6 −KxK
3
y/6

)
,

c1,4 = −2AC1

(
Kx −K3

x/6
)
, c1,5 = −2AC1

(
Ky −K3

y/6
)
,

c1,6 = A2C1

(
−K2

x −K2
y +K4

x/12 +K4
y/12

)
− c.
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��\77�$����� c0,m .�&.]��. ��6&�1���.2� � �.� ���&��� ��\77�$������
a0,m ���������� 2���&� !C" � ��/�� (Kx,Ky) = (0, 0) � �/���2 /&���� /�����8
��� ���+��� �# �&�������&(��# �����������]-�� ��������.2 !B" ���+��������� +�8
���0����� ���0+�&���� 2���&� �++�����2���]� ���+��������� +����0����� ���8
������� �����2� � ��/�� (Kx,Ky) = (0, 0) ������ ��6&�/�� ���+��������0 +�8
���0������ ���������� � ��������&(��� 2���&�� 6��/���&(�� � �?&���� �������0
��&� ����2 �?��6�2# ��������. !B" 2���� ?��( ��+�&(6����� +�� 2���&��������
2��&���� �62��.]-�0�. �&������&����0 ��7��2�$�� ��9����# �� �� +��2���2�
�&. 2���&�������. ���������&����0 +�&�� 

��\77�$����� c1,m .�&.]��. ��6&�1���.2� ��\77�$������ a1,m# !C"# � �.�
���&��� � ��/�� (Kx,Ky) = (0, 0) �� /&���� /�������� ���+��� ��&]/���&(�� 
� �/���2 ���&������ ����� 6�2�/���. � �����������]-�0 ��\77�$�����2 a0,m �
a1,m ���+��������0 +����0����.0 2�1�� ���&��( �����# /�� �����������]-�� ��8
\77�$�����2 c1,m ���+��������� +����0����� ��������&(��� 2���&�# ����1��8
��� ��������&(�� +&�������� Kx ± Ky = ±π# �++�����2���]� ���+���������
+����0����� ���������� 2���&� ���&� ��/�� (Kx,Ky) = (±π,±π) ����2 �?��6�2#
+�&�/����� ��+�&����&(��� ��������. !E" ���0+�&���� 2���&� ���/�.]� ������8
��. 2����+�&.���� ������ !B" � +�6��&.]� �+����( ���������&����� ��7��2�$��
��9���� � ��&����2� /��&�2� � �?&���� �?&�6� 6��/���� (Kx,Ky) = (±π,±π) 

��\77�$����� c0,m � c1,m ����������������� 2���&� � �&�/�� �/��� � �0
����1���.0 ��2+����� �� ��9� ������ ���+��� ���+���]� � �����������]-�2�
��\77�$�����2� �&������&����� ���0+�&���� 2���&� mCn �� ���( �/�� ������8
����������0 /&���� � ��������.0 2���&� +���9��� +��.��� �++�����2�$�� �
���&�/����� ��/����( 2���&� � �?&���� �&����0 � �������0 ��&� � ��&����2�
/��&�2� ���&� 6��/���� (Kx,Ky) = (0, 0) � (Kx,Ky) = (±π,±π) �������������� 

H�� !"#01#

����2 �?��6�2# � ����(� +�������� ����������������. ���0+�&���. 2����+�8
&.���. 2���&( �?&���]-�� �������/����2� ��������2� +�������&����� �� ��� 
< ��9���� � ����/��2 ��62���2 /����$ ��� +��������� ��+�&(6�]��. +��0���
�����������������# 2����+�&.���� � 2����+�&���� 2�0����� � �0 ��2?���$�� 
����6���# /�� +���������. 2���&( ��&]/��� 2���&� �����������]-�0 ������ �
�?&����� �0 ��������2� ����2 �?��6�2# +�&�/����. �����2� 2���&�� � �������8
]-�� ��/����(] )����+�&.���. 2���&( ���/�.�� 2���&( �&����/����� ������
�+������� �/���2 ���-����# �������# ��� +���6��� � m[n# ����]� �&]/���] ��&( �
+�.�&���� �������/����0 ������� ����������2 2���&� .�&.���. ��# /�� ��� ����
��-��������] +����9����( � �� �+������� ���������&����� +�&. mC# [n 
&����8
��&����. ���0+�&���. 2���&(# +���������. � mCn# ���/�.�� ����+�&���] 2���&(
+�� �+������ ���������&����0 \77�����# � /�������� �����/����0 ���������&8
����0 +������&����0 ��7��2�$��# +����&(��� �+������ ������0 ���?0���2� �&.
+��������. ��������&(��� ������ ��6��9���. +�� ��6���������� ����0 ��7��8
2�$�� � ��9���� ����������. � �����.-�� ����(� ����������������. 2���&( ����
��+�&����&(��� ���/����� ����+�&���� 2���&� +�� 2���&�������� ��9���� �&.
�&����0 � �������0 ��&� � 7�6�/����� ��/�� 6����.# \�� �6��/���# � /��������#
?�&�� ��/��� �+������ �������� ���+����������. � ���+����� ����0 ��&� +�� ��8
9���� 6���/ ����2��� � &���&�6������0 +������&����0 +�&�� �����������]-���
���� � 6���/�0 ������� 
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m<n '�2���� � � ��������/����� 6���/� 2�0����� ��7��2����2��� �������� ��8
&� 8 ) A �����# <[=> 

mDn ��������� ) � :�6��� �������� ��&� ) A )�	# <[CE 

m@n �NRZV v � # |_VJS � | xPYLKRG QLXV_RON dNOZ NOKVKRJM S`PVNLS ss vOPNJVU Od
wVKLNRVU hGRLJGL }LKKLNS# <[# D>>> { <EF@8<EFE 

mBn ISXRQVSXR � # IcVKV w x ZRGNOSGOTRG ZOWLU Od V JLMVKR_L {ORSSOJ�S NVKRO RJ SOZL
GNaSKVUS ss vOPNJVU Od KXL {XaSRGVU hOGRLKa Od vVTVJ# z F[# D>>> { D=>D8D=>@ 

mEn wRNOSXJRGXLJbO x | # zVSRURL_ x x wPUKR8iLUW ZOWLUURJM Od SXONK cV_LULJMKX
WLdONZVKROJS dON �OSSLNVK SOURWS ss ^XLONLKRGVU VJW xTTURLW wLGXVJRGS#
{NOGLLWRJMS Od KXL ��IIKX IJKLNJVKROJVU �OJMNLSS# DE8D[ xPMPSK D>>C# xWLUVRWL#
xPSKNVURV# t <>[DF 

mFn �OMPUV ~ �OJ8GUVSSRGVU ZVKLNRVU GOJKRJPV ss ^XLONLKRGVU VJW xTTURLW wLGXVJRGS#
{NOGLLWRJMS Od KXL �zIKX IJKLNJVKROJVU �OJMNLSS# <[CE { @@[8@E@ 

m=n zVSRURL_ x x # wRNOSXJRGXLJbO x | # �P��LJL w wPUKR8iLUW ZOWLU dON �OSSLNVK
ZLWRV ss vOPNJVU Od wLGXVJRGS Od wVKLNRVUS VJW hKNPGKPNLS# D>>C# !RJ TNLSS"q
TNLTNRJKA VN�R_A GOJW8ZVKs>C>@ >@=D 

mCn zVSRURL_ x x # ~ZRKNRL_ h z # wRNOSXJRGXLJbO x | wPUKR8iLUW GOJKRJPPZ KXLONa
dON ZLWRPZ cRKX ZRGNOSGOTRG NOKVKROJS ss IJKLNJVKROJVU vOPNJVU Od hOURWS VJW
hKNPGKPNLS# z BD !DB8DE"# D>>E { FDBE8FDF> 

m[n zVSRURL_ x x # ~ZRKNRL_ h z # ISXRQVSXR � # hXRMLJVNR ^ |UVSKRG TNOTLNKRLS Od V
KcO8WRZLJSROJVU ZOWLU Od GNaSKVUS GOJKVRJRJM TVNKRGULS cRKX NOKVKROJVU WLMNLLS Od
dNLLWOZ {XaSRGVU �L_RLc e FE# D>>D# >[B<> 




